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(2 v 05 E D) Bi5:7:15 21:7:30 REITAE:8:15

No =] 2] A# #H 3K s abelicid BETTHE
1 a4 RA 80mH (7)) B 9 1 9:00 8:40
2 AU /RAURA 80mH (/]v) =9 8 1 9:05 8:45
3 400mH B 2 1 9:15 8:55
4 400mH =9 1 1 9:20 9:00
5 3000m B 79 4 9:30 9:10
6 3000m =9 1 1 9:30 9:10
7 1500m -8 73 4 10:30 10:10
g 100m 5 148 1~8#8 11:00 10:40
9~17#8 11:20 11:00
9 100m £ 126 1~8#8 11:40 11:20
9~164#H 12:00 11:40
10 100m (7]V) 2] 73 8 12:20 12:00
11 100m (7]) = 62 7 12:40 12:20
12 800m 2] 9 1 13:10 12:50
13 800m = 52 4 13:15 12:55
14 400m 2] 17 2 13:35 13:15
15 400m -8 3 1 13:40 13:20
16 800m(/|v) 2] 31 2 13:45 13:25
17 800m(/|v) T 20 2 13:55 13:35
18 110mH >:] 5 1 14:15 13:55
19 110mH (FR%2) 2] 16 2 14:20 14:00
20 100mH =9 1 1 14:35 14:15
21 100mH (F%2) ES 27 3 14:40 14:20
22 200m >:] 41 6 15:00 14:40
23 200m 8 28 4 15:15 14:55
24 1500m >:] 96 5 15:35 15:15
26 4% 100mR (/]\) 2 15 2 16:15 15:55
27 4% 100mR (/]\) =9 9 1 16:25 16:05
28 4x100mR(/N) GERK B 5 1 16:30 16:10
29 4% 100mR >:] 23 3 16:35 16:15
30 4% 100mR S 23 3 16:50 16:30

(T4— LR DER)

No (4= T4 7l A# st 13 g B % BEE T X
1 aVINAURB FEMEEE (/)N) 8 26 9:15 8:45
2 aVINAURB FEEEE(/)N) £ 19 9:15 8:45
3 EMEBE(/N) ] 6 9:15 8:45
4 ENRBE(/1N) = 9 9:15 8:45
5 E R Bk 8 33 12:45 12:15
6 E R Bk £ 37 14:15 13:45
1 E = Bk 9 8 9:15 8:45
2 7 = Bk 5 15 12:45 12:15
3 aVNAURA EESBECN) 8 9 14:45 14:15
4 aAVNAURA FEEBON) S 14:45 14:15
1 Ak (B -h¥) L 9:00 8:30
2 faiE (Ei-$F) T 29 10:00 9:30
3 aAVIN(UKRB DeAR ] 26 14:45 14:15
4 aAUNAURB xR = 19 14:45 14:15
1 EaEbk ] 7 10:00 9:30
2 Eo bk T 4 10:00 9:30

BB TFE:17:30

BEIERAS: 18:00




